(7 pages) :
S.No. 2181 12UMAS04 4.  Define pare value.

P& LS — euaFwimy.

(For the candidates admitted from 2012-2013 onwards) ;
: 5.  Define permutations.

B.Sc. DEGREE EXAMINATION, NOVEMBER 2017.

aufleng rHmd — euenFwm).
Fifth Semester
6.  Define sample space.
Maths
gl Geuafl — cuanywigy.
SBEC — APTITUTE EXAMINATION -1V
7.  Find the present worth of Rs. 930 due 3 years

Time : Three hours Maximum : 75 marks hence at 8% per annum.
SECTION A — (10 x 2 = 20 marks) B@HEG 8% aulyuied 3 yamdsEssE Gpe 930
UTLTES &L Gasamigul  Qgramsulen snGurengw

Answer ALL questions. o

15 " Pefine’l :
e 8. Define Banker’s discount.

BLLma(® — euemywig.
aumidlwmerflen gem@pLg — euapTLIm).

2. At what time between 4 and 5o clock will the v :
hands of a clock be right angle? 9.  Define angle of elevation.

4 wpmb 5 wvefllsEm QoL Cu aps Crrsde g Caramgems — i,
&l &Mr&Hlen (pL_s6T QemiCarantsdey o_aremen?
park 5 10. Find odd man out: 3, 5, 7, 12, 17, 19.

3.  Define stock-capital. ;
Consear. Agrfle Genbd srrrsme srams.

LIBIE @gsﬁ@ — GuenFwiy.
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12.

(a)

(b)

(@)

- (b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.
What was the day of the week on 16t April

2000?

2000 <4 () arged 16-b prer Spenio
GTGTGT? '

Or

A watch gains uniformly, is 5 min. Slow at 8
o’clock in the morning Sunday and it is 5
min. 48 sec fast at 8 p.m on following
Sunday. When was it correct?

@il srewe Frre 2 wifeyL e (B Slg.&Mr, 5
BLb smogons 8 waflsE 1 (g <y ame
=21gl 5 Bliflib 48 Qpmy Ceusions 2SS @muim
Slenm sTL_[HEDG cTenmred 21ig sllwinang srem?
Find the annual income derived from Rs.
2,500, 8% stock at 106.

106 ukigsemer @m. 2,500 wsdS® Qsiieusen

gpeoid 8% GUPLILIL L. LaT(H GU(HLOTEILD SHT6HTs.
Or

Find the cash required to purchase Rs.
3,200, 74 % stock at 107 (brokerage 1 %).

107 ukigsmer 71 % fssdd (16 < %)

Cerggl . 3,200 sarer QupLiLI(HeusHsTer LiewTd

- Gaeneu aremLions samadl (Hs.
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13.

14.

(a)

(b)

(@)

(b)

How many words can be formed from the
letters of the word ‘SIGNATURE'’ so that the
vowels come together?

‘SIGNATURE’  aranp  auniigensudled o eirer
apsgismer  QAsram® (2wt eapsgEadT
RANDTE) TESENE QUMTTSEMSEMET 2 (HEUTESEVTLD?

Or :

Two dice are drawn together. What is the

probability that the sum of the numbers on
the two faces is divisible by 4 or 6?

Qran® usamLser gamrs 2wl GHib Cursl, @

usssgler sal (HOAsTans 4 Ddag 6 m@mgg)asrrm
HlEDS&56, eTemean?
The true discount on a bill due 9 months
hence at 12% per annum is Rs. 540. Find the
amount of the bill and its present wroth.
- 540 @@ aumL Adsbd 12% (ssaissde) 9
LDTSEISEHEE 2 6TeT &5 2 @TanIDWINTET SETEHLILY
aafler, péflenm Qorss Qsmas LHMD e
enGurensw AL sass (5.

Or
The present worth of a bill due some time
hence is Rs. 1,200 and the true discount on
the bill is Rs. 120. Find the banker’s discount
and the banker’s gain.
gpuresw walliy ep. 1,200 whmib o ereniowimer :
gem@nig. oh. 120 arafled, eumbidluimerflen samenLig.
LOHMID euBRIEWITeTT psTwID SamHidliy &s.
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15.

(a) A man on the top of a tower, standing on the
seashore finds that a boat coming towards
him takes 10 minutes for the angle of
depression to change from 30° to 60°. Find
the time taken by the boat to reach the share
from this position.

sLpasmyuiler em Camygbd Cuweé Hlarm, gmeur

Sipssn Caranmd 10 A kisefler 30°mHE

60° eueny e UL @ cubd eTenmy G fldmg. Qbs
Blevoudler LIL @ sr&EE@ cuy aTHSgs CemeT@EhD
Cryd smewTs.
Or
(b) Find odd man out :
(i) 253, 136, 352, 460, 324, 631, 244.
@) 19, 28, 39, 52, 67, 84, 102.
@) 2, 5, 10, 50, 500, 5000.

Caupul L geaep Spstapid  euflasuie

. sa(Hig&EsaL.
@ 253, 1'36, 352, 460, 324, 631, 244.
(i) 19, 28, 39, 52, 67, 84, 102.

@) 2,5, 10, 50, 500, 5000.

5 S.No. 2181

16.

17.

18.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

The minute hand of the clock overtakes the hour -
hand at intervals of 65 minutes of the correct
time. How much a day does the clock gain or loss.

siqemsde BllLb sl @er Curb &b
wetemer el 65 Al @en Qeuafluler sMwmen
Crrsens sr_(Hdmg. erafled, qm BreaTsHE@ SigHMID
GTeUGUETE Fa(NSEOTS DDVF| GMMEUTSE HETEHE (HmG) ?

A man bought 20 shares of Rs. 50 at discount, the
rate of divend being 13% %. Find the rate of

interest obtained. :

gmeur 50 wHiyemrw 20 ukigsmer 5 sleie
aurmgdort. DsHE gemarw ukiE 134%.
2igDé&sTan cully 6NHssms ST :

Find the value of
30!

(a) 'ég

() 60P,

() " 10G;

Cuonser_supdlen LI srewrs.
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20.

The banker’s discount on Rs. 1,650 due a certain
time is Rs. 165. Find true discount and banker’s
gain.

. 1,650 samew eumdlwmerilenr  FeT@EHUY (W
AUl Crrsdpsrer Cgrens e 165 erafle,
2 ETEMLOWITGN SET(@hLly. WHMID euriwimerfler g gmub
saEE (). '

There are two temples, one on each bank of a

river, just opposite to each other. One temple is 56

m high. From the top of this temple, the angles of
depression of the top and the foot of the other
temple are 30° and 60° respectively. Find the
width of the river and the height of the other
temple.

@@ pHuder Q@ samruid ram® Camulassr o erarer.
@m Garelellar o wpb 56 BLLT. @@ GCamulid Gue
Qmps  QramLreug  Gamelld  SigeurysHle
Caramriiger wpenpCu 30° whmid 60° 2 drerer. mHblen
S  wHg  wHEAprwm  Cemulellar  ewgb
sETH g &5,
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